R#FAL BE E&OMRE IE-IE 01

ROGHEZ® L. 72720, EAE/FE52 0K (SHKk15#, Afh25®, B#35#, C# 507 )

1 1-5 (2) 14-38 (3) 15—15

(4) 5-30 (5) 57-235 (6) 14 —43

ROFEEG L. 7L, BLBEEOF X, $12, () 24 L @R b T
(SH25F, Af40®, BR14r, C#H1520%)

(1) (+3) = (+4) (2 (+7) = (+11) (3)  (+18) — (+10)

@) (+28) = (+39) (5)  (+13) = (+13) (6)  (+17) — (+33)
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3. ROHEZE¥ L L, BREFEEOT L (SHKI158, A2, B35, C #5507 )

(1) 2-6 (2 15-7 (3) 18—18

(40 2-50 (5) 67—21 (6) 13-51

4. ROMFEERREEL EEL, EAEEEEOT L. 7, () A LT LHET.
(SHk25®, A0, B 14y, C#145 208 )

1 (+1) -7 (2 (+7) - (+12) (3)  (+16) — (+10)

@) (+24) - (+45) (5)  (+12) - (+12) 6)  (+17) — (+32)
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1.

2.

R#FAL BE E&OMRE IE-IE 01

ROGHEZ® L. 72720, EAE/FE52 0K (SHKk15#, Afh25®, B#35#, C# 507 )
* TIE—1E;  5lUBwEEE, #iclT -5 2205,
R=—"hN=%2DFF - 1EDE IN=RK=— (K= DK
1 1-5 (2) 14-8 (3) 15-15
=—(b-1) < h=2K, =+6 =0
=—4 * 0IFIETHHETLRVDT,
iz TEwidzwn,
(4)  5-30 (5)  57-35 (6) 14 —43
= (30— 5) =57 35 = —(43—14)
— _25 =422 =29
ROFEREE. 722U, BRI/ F2OTE. £72, () 2 L@t b #HT.
(S#25%, Af40®, BR15, C#157208 )
*AyansLl  —(+A4)=-A < Ty 3k T—) 3%, L5212
—(+A) 13 THoF, = TH, T, -Atk3.
(1) (+3) = (+4) (2 (+7) = (+11) (3)  (+18) — (+10)
=3-4 <ZoXEEHIZ. =7-11 =18-10
=-1 =—(11-7) =+8
=4
(4)  (+28) — (+39) (5)  (+13) — (+13) (6)  (+17) — (+33)
=28 -39 =13-13 =17-33
= —(39 — 28) =0 =—(33-17)
= —11 =—16
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3.

ROFIHEZS L. 722L, B2ZEFEE2O0 L. (SH158, Afk2s#, B#k 358, C# 50 )

1 2-6
=-(6-2)
——4

(4)  2-50
= —(50 — 2)
— —48

(2 15-7
=15-7

(5)  67—21
= 446

18 — 18
=18 -18

=0

13— 51
— —(51—13)

=—38

4. ROFEZEE X LEL, BEZARFEFEOT L. £, () 2oL @b ET.
(SH25%, Af40®, BR14y, C#H 1208 )

1+ -+ (2)  (+7) - (+12) (3)  (+16) — (+10)
—1-7 —7-12 —16—10
=—(7-1) =—(12-7) = +6
— 6 =5

(4)  (+24) — (+45) (5)  (+12) — (+12) (6)  (+17) — (+32)
= 2445 =12-12 =17 — 32
— (45— 24) =0 =—(32-17)
— 21 =15
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